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Inverse variation is described by an equation xy = k (k = 0)

inversely as x".

weight = w; KO\(“

or y

ZHoRTION)

1. When two people are sitting on a seesaw, the heavier person must sit closer to the fulcrum to
balance the seesaw. If people weighing w: and w; are seated on a seesaw at distances d; and
dz from the fulcrum, the seesaw is balanced when wid; = wod,. — ] r\:VQFS'a

d;

dz

o 2
Period | 2

and we say that "y varies

Ca(m@ weight = w, X& Xij

Karl weighs 180 pounds and is sitting 6 feet from the fulcrum on a seesaw that is 20 feet long.
Carmen weighs 120 pounds. How far does Carmen need to sit away from the fulcrum to balance

the seesaw? X 5 x\j
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2. Consider the following situations. Deude if each is an example of direct or inverse variation.
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Inverse Variation—Graphs and Tables s

Example 1: it

Suppose you drive 200 miles without stopping. The time it takes to travel a distance varies inversely as the
rate at which you travel. Let x- speed in miles per hour and y=time in hours. Complete the table and graph
the variation.
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Graph an inverse variation in which y varies inversely as xand y=3and x =12.
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